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TGNEAL A 586,883 3,851,500 A3,264,617
719 =R 558,350 3,851,500 3,293,150
2ZgALE Aol 433,750 3,851,500 N3,417,750
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D&+ 3,750
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71 m=AI1E 124,600 0 124,600
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2)7NIALA O] A AL gk dE A 10,000,0009 = 10,000
2719 = A3 A=) 2,000,000 %24 = 4,000
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)MNLA - 23 A ZH10E) 1,000,0009 = 1,000
IR 4,500
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2)8A BAGF o] 3] Anpi 30,0009) #3179 %23] = 1,860
02 &Yy 12,600 0 12,600
DSHSF 2 AA 12,600
)AL e 600,000¢) = 600
2)71 10,000%1,200913] = 12,000
202 ofH] 21,500 0 21,500
01 =ujofy] 21,500 0 21,500
D=ujofH] 21,500
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2)7199d daFAn s APy F3 50,0009 #4834 *103] = 6,000
g A AR W XA A g 50,0009 +5™*3Y *73] = 5,250
2)TEEA T (HL) A EX] v F) 50,0001 5L *203] = 5,000
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02 % 26,133 0 26,133
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DS 7,325+17 %254 7H+12Y = 2,198
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